OSmK--- S HEHERSHS g
1T, BAREESHRRE

B P 7
S UL — T By KL R AL D46 4
—. REHE. (@R 24, L2445

1. Adih 37x4 BIRLLLC )R, EBC )b

2. fEFE S B EEERE.
( )X3=1500  (  )x5=200 ( )x6=666
3. RIRAEAG S —E =250k 5 Ry, AL E A4S R 2 2000, HFS

RN AN RARZC ), BMZC )

HEERIEL.

>

7
H

201 +202 +203 +204 +205 +206 +207

=204 x

)

. E OE‘:{;E\J:“>”“<”E—‘Z“:”0
501 x4 sz 503 x4 0531 x4

0x1x2x3x4OO+1+2+3+4
L BReHE. (825, L6

Lo E—ARIEEE, — SRR EAWA 0, KRR ZED

A0, C )
2. 196 5 3 FJBAKT 600, ( )
3. 3 MMREGIRTE M m B RL 2 27 oK, AR 6 AR

BERAE M = BERZ 2 27x<2="54(JE K)., ( )

SRS s, T8 B, BRI
Ny ST, BIEEESRAE




OSmK--- S HEHERSHS g
1T, BAREESHRRE

=, Bk, (B35, H9 )

1. —kafa 31000 N7, FHERBDEIFFN IS DT, (0 )5

RESK 56 o

A. 7 B. 8 C. 9
2. —& (A—FEMRigH) 62 6, AW 78, RINR(C )

Bl S

A. 420 T B. 430 JG C. 450 7C
3.

G
S R C ) & 404
N € A ——
RARELEWME
MBI, IR RBEEAC ).
A. 10 B. 8 C. 32

M. THEHkE. 310 4)

1. HESHEH. &8 175, 3497
700%x4 = 15x20=
82x7~ 299x8~

2. FIRAIFE. (B3 2, L6 )

409x6= 350%x8=

4 1 — -
oy 0%, Fih, B, BRI

SIS IO, MREESREAE



OS8R RN FENERSES o
ST, AAREESHEAR

Fiv BEIVIAWES . &FE S 5, 3104

(1)
AR AA
16T
AAAARAAAAARAAN
Gy
L
(2)
EEEEE
25T 7
40%)1‘
sy




O8RS N HEHERSBS ‘
IO, DAREESHEAE  SEu

-

AL SR (@9, HABME S, JL41 )
Lo RIS R LS, MR X NI R B S, 9
WA 5 BREBHR 2D

2. /NES oRER 10 TER, MOXARMIEEE, B 8 b, MNEmtaese
AR ARFNIE NI RITELAT 2 /D 18 i 2

3. HEUKEEEE,

A8l
A RBRIE /)N
_ F 2

QHIRHEAT T 3 40, INEIBT 20K
4. BRI T . BEMBIFT L, XKLL LR

SRS s, T8 B, BRI
Ny ST, BIEEESRAE



OSRG-S FBHERSHES i
ST, AEREESRERR

B AT 31&,]
BHR124 .
RpRIZAR, | €3
4320 R . } i

5. RBAFAFIT R T —FOB A, B 300 8, k5 &V EA
BHR20 7T, FKIME —ILL T 6 BRI, — S K22

S e, ik, EER, AR FAETED
5% 1S T, A ESESE



OSmK--- S HEHERSHS g
1T, BAREESHRRE

TR
—. 1. 120 160 [Ai3k] 4334 37 f Bk 30 F1 40,
2. 500 40 111
3.4 3 4.7 1428 5. > < <
“oloA 20 x 304
=.1.C
2. C [AK] 62x7 IRE & KT 430,
3. B [RUIR] 40 XF N B AN <47, T 257
PO, 1. 2800 300 560 2400 2. 2454 2800
fiv (1)16+4=4(JT) 4x11=44(JT)
16+4x11=44(7T)
(2)25+5=5(T%) 40+5=28(7x)
40+(25+5)=8(iz)
. 120x5=600(70)
% fEHRME AR 5 BREE L 600 TT.
2. 10=5=2(0H) 2x(8+5)=26(i&)
%o ADNRRHIVENVAT 26 TEHRH .
[midk] )R I N R IR 2 /38 8, R P 43
fif 4 /88 ) B e — K FH R 1]
3. (1)110x2=220(K)
%o ANEREI B RENE 220 K.

(2)110x3=330CK) % : /NEWH T 330 K.

>k
7/
[E—

4 1 — -
oy 0%, Fih, B, BRI

ShaRe ST, EONEESMEAR



OSRG-S FBHERSHES i
ST, AEREESRERR

4. 3x12+4=9(KR) %&: RXLLEIZ 9 K.
[FIR] 2R 2 R,

5. 300x6—20x6=1680(JT)
5%(300—20)x6=1680(JT)

& —ILH X 1680 T

bS e, ik, ES, MR
=Y IS TH, BENEESREE



